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N. B.:. (1) Question No. 1 is wxnpulsory -
\ (2) .Attempt any four questjons. .
(3) Each question is of 20 marks.
- (4) Scientific calculator can be used
X ' {5) '\ppmprmfc statistical tables can.be used,
. _
I.. (a) The. followirg are the ages of 48 patients admitted to the ermergy r'*CY
room of a hospitai. = .. | HETaE 1

3260 3 51 35 54 3 580
‘ _ y * - '/

7 B A ) S 26 7
- '_For these data con*;truct 2 frequency @sg;lbutlon Also construct a
cumulative frequency distribution, a @;vc frt::_qucr,x_cy dlstrlbntlon and
- a histogram, : é, = |
(b) Sample vanances are computeLd:ffar the tidal ::.fdlumcs (mdhhters) of
two groups of patlcnts suffcgﬁ'g from artial septal defect. The results

and sample sm:s were asrﬁjllows ;’D 4 3 %d?) 'PGP V.6 r)/J c::'.PC,Q | 1

S mp=3155,2 = 35,0004
- 0,=41; SZ*ZOCK;‘I |

Constmct the 95 @fccﬁt cohﬁdence interval for thc ra PIW e two
-oﬁ-u A4975). -

- - - -population- var,:a‘ﬁf“cs (Given 975,(3.,0-40‘ 1:94-and

(c) First a curvgy—- ab* to the followmg data : :
X'TZJ 3 g5 8§ i § T
yj;" 44 < 1723 '2'074 248.8 2985 -

- We: WlSh to know if we can conclude that the: mean dallv coioric intake
N " ﬂm- Sthe adult rural population of a developmg country 1s less than 2000.
p ‘ - “A sample cf 500 had a mean of 1985 and a standard devidtion of210 :

b, . :

- Let.a =0.05.
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, : o ' uojects'as 6 ~
During 0n¢ scmcstcr a :~.tudcnt received grades In. vﬁ%‘f‘oust; i ig any NG
: ' 7 I e S
" o{vngm the’ tﬂl‘llf’ be!ow ow. Test at ml leyﬁlr_v;/,ECthc'[""'E 77 R
sk gradf‘S L there S fl‘bé;cts.dy{@ﬂ)(/\/gu -

N N« A
o N |
) (b)) If thf :::a?:;mbcr of serious accidents per year in a larpe faciol&vlq 6
five, find the pmbabpllty that in the current year there will b‘e - hs
{/-'D (i) -exactly $even accidents . b 4:“
- (i) ten or more accndcnts - N
(iii) no accldents | p. :)

A

(iv) fewer than five accldcnts | + s -
~ (c) Cortisol level dctcnnmatlons were made on two é_amples of women at - 8

childbirth. Grewp 1 subjects underwent cmcr&éncy cesarean section

-~ following * mduéé" ‘labour.” Group 2 sub_;@: delivered followmg

spontaneous: ldbour. The sampI'- mzc%jﬁ?ean levels and standard

i deviations were as follows . - o>
. AN 1
Sample n Xpf S ‘ :
1 10 355"“" 65 '
2 1Zemp b 80 . . e Oﬂﬁ
&D\ll 1.

Do there<data prowde auffi‘gqént evidence to mdlcate a difference in S:
the mcan cortisol lc\«els@-{}e populations rt:pxcm.ntcd'? Let o= 0.05. &

o Also find the 95% cc%ﬂdence mtcrva]

.--' o

‘N

‘‘‘‘‘‘‘‘‘
& i‘ Hm‘-ﬂ

Chssdieal— Frequency. Descoiol e
_— @ga, @ 97 ¢ "'"‘_} 3 DPL‘I 'q_q’hgjﬁ:f

3, (a) Find Lhc mean an{c} medlan af thc followmg data ‘—

_-.'«.,-793 502 . S | -
Coe 103107 g s | :

‘ | ‘i\z‘ 108-112 | ]7 ] S

& e-122 = 25 | -

A 123-127 3

12832 .
s
o il :
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CCting qquihiném gmong _drug was investigated - As_part 6

-..(af - Use of nccdle Exch ¢ quonnatlon
L .--;r) Regu]ar e ?ngc - ._
\'/l, Occaswnal Never Not - CI
X 0 -;;aﬁgt‘:ncy 56 S ) | Known |
R N Oonagency 1 9 ' ! 31‘ 20 ' 24
C6 ] 16 532

May we
y .conclude from these data that use of ﬂLCle exchange a«%
dgency status are reiated? Let o = Q1.

(c) Deﬂne the followmg terms — | * '8 |

- ( 11) mode

@Dmeasuremcnt scales Bq gmﬂ” m -ﬂ@w’-‘g

(iv) Null and alternative’ Rypothesis

-l.

)/(a) One hundred pcoplc were askcd t&;@pcmfy wi‘:i(dh mode of transport 6
' . fhc}' preferred. The followmg table sho@ the rcsponqu Cross -
_’c:osmﬁccf by’ cducatnonal level-of the rq.ﬂ ?ﬁdcnt |

_ Transport . . - High Cc@-‘egc * “Graduate
_ o School (A) (B) “School (C)
Train (T) - 15 - ,.v- g 7
~ Bus (Bu) 3587 - 20
"Own vehicle (v) ' 5,\:{"1" 5. 15
Others (o) | 10 3. 2
Find the tollowmg pxzo“aabllmcs g
()P (D). '5-'-; () P(NO‘
. (iii) BVAC)- & g (w)P(B) |
. &)PAU Bu?. - | |
. (b) A contmug:{s'random vmablc X has the following probablhtv dcn31ty 6
- functiomy Fx) =k %, 0 <x<2
S Dcter,fflme
‘ \1) k L | o
S0 (i) P{02sx s 05} | SIS

e (m) P{x > 3/4 gwcn that x 2 1/2}
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5. (a) The test a5S2SSES krowlcdgf* of bchc.wour modlﬁcag(t?n principies. A
higher score mdlcatcs greater know!edge. The fi Wing are thc pre- |

' and post-training scores made by the prim _
we conclude. on the basis.of these-data,” t-thé-training program .

mcreases knowledge of beliaviour modlﬁea'g;)n pnnmplcs" Let a=.01.
»("0*" . Pre: 7 6 107 E 8 .13
' - Post: 11 14 16 LA 9 15
Pre: & 14 16 S35 11 127 "13
Post;_ 9 17 20 L&"T 12 14 15+
S Pre: 9 10 13_,‘:‘ R
Post : = 14 15, \lﬁ S 15 9. |
| (D] A study was conduc&:d to cxammethose variabjes thﬁi]gnt to be-related - 10

to the job sausﬁac@bn of: nonprofcssmnal hospital cmployces A random
sample of liwémployecs gave thc following results :-

REE:
o AN 8
1 I 13 ]
P o
, ,{230 15 |
% 377 10 4
v 37 14 2
v .
A 31 8 3
& 45 iz 7
E«h\
Y \ | _ . |
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43 ' o ...
123 LS
3015y - "
37 14 g

6! 14 16

31 9|

31 4 5

(‘) F lnd the muluple regression equaticn of y on X, and X

(i) Let x} = 10 and x, = S and find the predicted value of‘y

6. () TIwo pain - relieving drugs were comparad for cffcctwcrt"g'“s Thirteen

~ patients received dn..g | and thirteen patxcnts rcccwc@)drug 2. The
sample variances weie 5,2 = 64 and 5,2 = 16/ Test t.h:'nult hypothcsus

that the 2 popu!lation va.lavccs are equal..-Let a ,""*05
(Given Fos (12,12)=328). '\“

@A sample of 150 chronic carriers of a ccrta;g*aungen and a sample of
L2
| 'samples were drawrr difrer. with rt&;@cc* to bloodigroup distritution?
LCt a = 0 05 t ) C '

Blood _Group - Carrie r@ . Non-carriers -
o0 B 23
54 | 192
A - :5. --*1/‘\ b
B | 16 - - 6}_ -
- AB - ‘;"' 3, it - 57

(c)- Sceds -of 4. dlffc{,ﬂt types. qf COFn-are plantcd tn.3 blocks. Test at .01

- level whcthcr\_fﬁé yields in bushels per acre, as shown in the to‘lowmg
table, varx_;ygmﬁcantly with soil differences. (ie; the 5 blocks.)

(Gwcn‘% (4, ]2) =541
I‘ype- of corn

?locks I I m N
12 15 10 14
15 19 12 1i.
14 18 1S 12
1116 12 16
16 17 11 14

C'HUOUJ:P

500 nonscarriers révealed the: following Pk&d group distribiitions. Can -
@ ~ one conclude from there data.that the\{_e%o populations from which the
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